[

1

T1(SH)

e
=
Im
og
jaL
H

Wi (LHHI)

STS &S KX HEF AL

Rubber

W (L4

A3:

Bar
ESXA A2 (HZER) =LA E(HZR) EE
53 ZOKL) | HHIW) | ST || ZoI(L1) [HABIWI)Y | SHHI(T1) 2 ol Bolt
(mm) {mm) (mm) (mm) (mm) {mm)
150 560 250 0.6 620 210 20| & M10x80 ._l
200 720 250 0.6 790 210 | 2014 || Mi0x80 |W e
250 880 250 0.6 950 210 20/ & M10x80 nw\%@\\
300 1060 250 0.6 1160 210 20/ & M10x80 Case(SUS304)
350 1230 350 0.6 1330 210 20| & M10x120
400 1400 350 0.6 1520 305 2014 M10x120
450 1580 350 0.6 1710 305 20| & M10x120
500 1750 450 0.8 1880 450 201 & M10x120 \
600 2130 450 0.8 2250 450 201 & M10x120
700 2430 450 0.8 2600 450 201 & M10x120 \Wi
800 2780 600 0.8 2950 600 20/ & M10x120 cw
900 3130 600 0.8 3320 600 20| & M10x120 =
1000 3460 600 0.8 3670 600 2014 M10x120
1200 4170 600 0.8 4380 600 20/ & M10x120 »
1500 5240 600 0.8 5450 600 2014 M10x120 - MH_ H_ of 24 2 H.__Uu _ m_._ =
(i) =T =2 o -4
ESENE Y o PROJEGT TE
@ anwm._MWﬂ CONTRACT NG NONE DR ING SW - CHAMBER
APPROVED BY: SUBMITTED BY: DRAWING TITLE
—Fsg e BENNAZT AME REVRON REV.0




